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BESE-135 : INFORMATION AND 

COMMUNICATION TECHNOLOGY 

Time : 3 Hours     Maximum Weightage : 70% 

Note : (i)  All questions are compulsory. 

 (ii)  All questions are of equal weightage.  

1. Answer the following question in about 

600 words : 

What is meant by behaviourism ? Discuss the 

implications of behaviourism for using ICT in 

education. 
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Or 

What is meant by ICT ? Describe the need of 

ICTs for classroom teaching. 

2. Answer the following question in about 

600 words : 

Explain the meaning of Web 2.0. Briefly discuss 

Web 2.0 technologies used in teaching-learning 

process. 

Or 

Explain the meaning of creative common 

license. Describe the types of creative common 

license. 
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3. Answer any four of the following questions in 

about 150 words each : 

(a) Distinguish between hardware and 

software approaches to educational 

technology. 

(b) Differentiate between digitized and non-

digitized technology. 

(c) Mention the steps in the selection of ICTs 

for classroom teaching. 

(d) How is Intelligent Essay Assessor (IEA) 

used to assess essay type answers ? 

(e) What is plagiarism ? Describe, briefly, 

softwares used to check plagiarism. 

(f) What is WiKi ? Mention its strengths and 

limitations. 
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4. Answer the following question in about 

600 words : 

Suppose you are asked by the principal of your 

school to maintain different school records. 

Describe, with examples, how you can use ICTs 

to maintain school records ? 
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      BESE–135 
f'k{kk esa Lukrd (ch-,M-) 

l=kkar ijh{kk 

twu] 2021 

ch-bZ-,l-bZ--135 % lwpuk ,oa laizs"k.k izkS|ksfxdh 

le; % 3 ?k.Vs     vf/dre Hkkfjrk % 70% 

uksV % (i) lHkh iz'u vfuok;Z gSaA  

 (ii) lHkh iz'uksa dh Hkkfjrk leku gSA 

 

1- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa 

nhft, % 

O;ogkjokn dk D;k vfHkizk; gS \ f'k{kk esa  

vkbZ- lh- Vh- ds mi;ksx ij O;ogkjokn dh 

mikns;rkvksa dh ppkZ dhft,A 
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vFkok 

vkbZ- lh- Vh- dk D;k vFkZ gS \ d{kkd{k f'k{k.k gsrq 

vkbZ- lh- Vh- ds mi;ksx dh vko';drk dk o.kZu 

dhft,A 

2- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa 

nhft, % 

osc 2-0 ds vFkZ dh O;k[;k dhft,A f'k{k.k&vf/xe 

izfØ;k easa osc 2-0 rduhfd;ksa ds iz;ksx dh laf{kIr 

ppkZ dhft,A 

vFkok 

fØ;sfVo dkWeu ykblsal ds vFkZ dh O;k[;k dhft,A 

fØ;sfVo dkWeu ykblsal ds izdkjksa dk o.kZu dhft,A 
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3- fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

izR;sd yxHkx 150 'kCnksa esa gks % 

(a)  'kSf{kd izkS|ksfxdh ds gkMZos;j ,oa lkW¶Vos;j 

mikxeksa esa vUrj crkb,A 

(b)  fMftVy ,oa ukWu&fMftVy rduhfd;ksa esa vUrj 

crkb;sA 

(c)  d{kkd{k f'k{k.k gsrq vkbZ- lh- Vh- ds p;u ds 

pj.kksa dk mYys[k dhft,A 

(d)  fucU/kRed izdkj ds mÙkjksa ds vkdyu gsrq 

baVsyhtsaV ,sls ,lslj (IEA) dk iz;ksx dSls 

djrs gSa \ 

(e)  IysxfjTe (lkfgfR;d&pksjh) D;k gS \ IysxfjTe 

jksdus ds lkW¶Vos;jksa dk laf{kIr o.kZu dhft,A 

(f)  WiKi D;k gS \ blds etcwr i{k o lhek,¡ 

crkb;sA 
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4- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa 

nhft, % 

eku yhft,] vkids fo|ky; ds iz/kukpk;Z us vkidks 

fofHkUu izdkj ds fo|ky; vfHkys[kksa ds j[k&j[kko dks 

dgk gSA vki fo|ky; vfHkys[kksa ds j[k&j[kko esa 

vkbZ- lh- Vh- dk iz;ksx dSls djsaxs \ mnkgj.kksa lfgr 

o.kZu dhft,A 
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